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Union and Intersection Practice
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12) 400 families were surveyed. Tt was found that 90% had a TV set and 60% had a computer.
Every family had at least one of these items. How many of the families had both a TV
setand a computer?
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1) Suppose the universal set is U = R, the st of
all real numbers.

Q, Z, and N are all subsets of R.

a  Copy the given Venn diagram and label the
sets U, Q, Z and N onit

b Place these numbers on the Venn diagram:
L V2 03 -5 5% 0, 10, and
0.2137005618..... which does not terminate or recur.

¢ True or false? i NCZ ZCQ

NCQ
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8)

)

Use the Venn diagram given to prove that:
n(AU B) = n(4) +n(B) - n(AN B).

Note: (a) means there are a elements in this region,
son(A)=a+h
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2)

a List | setC setD setU
W osetCND v setCUD
b Find i n(C) n(D) n(U)
vl v n(CnD) v n(CuUD)
3) a List 0 setA i setB i setU
v setANB v st AUB
b Find: i n(4) n(B) n(U)
ul v n(ANB) v n(AUB)
4) Consider ={zr|r<12, z€Z*},

={27,9,10,11}) and B={1,2011,12}.

a2 Show these sets on a Venn diagram.

b Listthe clementsof: i AN B AUB B

¢ Find: i n(A) n(B') n(ANB) v n(AUB)

5) 1f Ais the set of all factors of 36 and B is the set of all factors of 63, find:

a ANB b AUB

6) If X={ABDMNPRTZ} and Y={B CMTW,2Z}, find
a Xny b XUY

7 U={z|z<30, zeZt},

,(mmofao) and B
a Find: i n(4) i n(B)
b Use ato verify that n(A U B)

{prime numbers < 30}:
n(ANB) W n(AUB)
(A) +n(B) -~ n(A N B)
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9) On separate Venn diagrams like the one given, shade the region representing:

not in A
AnB
AUB
An By

b

d
f
h

in both A and B
in either A or B
(Au By

in exactly one of A or B

P

B
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10) In a class of 25 students, 15 play hockey and 16 play basketball. If there are 4 students
who play neither sport, determine the number of students who play both hockey and
basketball.
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11) Ina class of 40, 34 like bananas, 22 like pineapples and 2 dislike both fruits. Find the
number of students who:

a like both fruits b like at least one fruit




